
 

Triangle Inequality
Let a b E R Then
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For the equality part
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If I 5 0 thestatement is trivially correct
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Special structure of R Cross Product ax5

Let a ai 92,93 and 5 bi be bz ER

Then the cross product a 5 is defined by
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Properties of CrossProduct

Let a b c ER α per
Algebraic 1 21 follow from propertiesof determinant
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Geometric
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Also a b ab satisfy righthand rule bycheckingdefinition



Ii Formula 141 a'xD D Area I 0

a r5 a 5 ra fasometer
a 5 are linearly dependent
linear algebra

Pf of 4

By straight forward calculation explaning both sides usingdef
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ñx5 10,0 9

Areal 19 41 absolute valueof
determinant
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eg revisit Ñ 12,35 5 11,33 Find 9 5
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